D 4m = 400 cm
@12 m? = 12000 cm?

@ 70000 cm?2 = 7m?2
@ 480000 cm? = 48 m?2
® 630000 cm? = 63 m?2

® 12m? = 120000 cm?
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(0)0.3km? @ 0.3ha ® 300a

@ 3000 m? ® 3ha
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T 22 &9= 1AM v
@ 0.3km? = 30ha
® 300a = 3ha
@ 3000m? = 30a = 0.3ha
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@ 540g°] 10000H]+= 5.4 tJUTh.
@350 kg+4.7 t=820kg

® 570000¢g + 0.043t = 613 kg

@ 5kg°] 100081 5t Yt

® 420kg 9] 100 v 42t YU Th

@350kg + 4.7t = 350 kg + 4700 kg = 5050 kg
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41.8 x4 = 167.2(kg),

B2 T 590 BEA Y L
167.2 4 39.6 = 206.8(kg),

webd 559 BRA o BFL

206.8 + 5 = 41.36( kg)
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(Hgol9] 7])=156.2 + 1.5 x 4 = 162.2 (cm)
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(540 + 620 4[|+ 450) + 4 = 470
1610 +[ J=470x 4

1610 +[ = 1880

[]=270(7t=))
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Heb: 37509

@ 5600 8

@ 3500

© 49008

@ 28008

43008

@ 14008

5600 + 3500 + 4900 + 2800 + 4300 + 1400 = 22500 ©]1,
SF oSt HiF QI = 22500 + 6 = 37508 YUt
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> =Eh 1425000 cm?
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AL BE=2m

AB BA=14-11=3m
Hol=(164+2)x14+2+11x3+2
= 142.5m?

= 1425000 cm?
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